CHANTO

% 3

EEHER
ELFE
ERAtE
e
ERE7
R
e
o
{FRZR I
BERE

mEtERAE

216 @20

0.34~0.7MPa(3.5~7kgf/cm?)

148g 151g

B

1. TIRINDAEIESS » BB -
2. BIMEI5 - BEE . WA - BN -
3. MBBR3LEET - ESHREBINHRE -

-

_ERSE
VHR 20  TA-22 2
# 3 il A AR % [ 88 B =

@16 1 18
@20 2 2{@
@32 TA-1IN
@40 i
#3¥ AR A £ 0041.01
VHR
% R Y
@32 @40
@ |
1MPa(10kgf/cm?)
0.2~0.7MPa(2~7kgf/cm?) 0.1~0.7MPa(1~7kgf/cm?)
50~100mm/sec
-10°C~+70°C
AHE (1SO VG32)
S00MZLA L
*0.03
180 C.P.M
375g 470g




 EBRNRER JVHR16 ) VHR20
i pa) BN
7
5
= ~ // o Hm {/ Pi
=A E E
At F= 8 o 8 4%
L ge.ﬁ // Bs &
= ;/ s V/
Flkgf): Bt 1 a 5 3 { 8§ 5 3
LE 1, m HEED m
Mikgf-cm): (&) o L
Llcm): SZR6ER{FRIRGEERE ) VHR32 . VHR40
L 40
e FA
7 - JHI‘I
i /) [ /x} e
—— & SO || /4
/ \\\ - // £ 50
0 a0 2 A/
I 2 L : [ 1Z
| = 10 A
2ty . Vi
1 a 5 7
e HEED kgticnt)

. \ st Gegficnt)

AERYE
e - A

4-L F
&
" H
7 -...>’/_
& n— %
8| o &
| I
= =
] 9.5, 1 | OC |
= bt in O 4-T
4-M % | Lﬁ
R p R
i b——- ™ Tj /
' T b ;K%

WX |A|lB|Cc|D|E|F|G|H]|J]|K L M |[N|P Q |R| 8| T
VHR16 |72|48|32|30|24|29|10|14| 8 | 8 | M3Xx0.5 [M4X0.7/18|20| M5X0.8 |14 |24| M4ax0.7
VHR20 |72|48|32|30(|24|29|10|14| 8 | 8 | M3x0.5 [M4x0.7/18|20| mMsx0.8 |14|24| max0.7
VHR32 |96 (58|44 |42|32(43|20|18|14[12| M5x0.8 |[M6X1.0/15[32| M5x0.8 |14(32| M5x0.8
VHR40 |96 |58(52|42|42|43|20]18[14]12| msx0.8 [M6Xx1.0{15 (32| msx0.8 |14|42| msx0.8




